ﬂé\ Multiplying Using Arrays Name:

Use the array provided to solve each problem. Answers
1) 59x45= 2) 48x22= -
: ' L.
2.
3.
4.
"""""""" ;
6.
3) 48x24= 4) 44x44 =
5) 44x27= 6) 33x35=
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ﬂg Multiplying Using Arrays Name: Answer Key

Use the array provided to solve each problem. Answers
1) 59x45 = 2) 48x22=
40 5 20 2 1 2,655
: : 2. 1,056
50 (50 % 40) (5 %|5) 01 40 x 20540 5 2) 3. 1,152
2,000 R 300§
; g . 1,936
---------------- N o
: 9x40)  (9xF) (8}6§O) (85162) 5. 1,188
o 1,155
3) 48x24= 4) 44x44 =
20 4 40 4
40 ' :
(40 x 20) (4b x|4) 40
(40 x 40) (4b x|4)
800 16 1,600 16(
s [l .
(81£r2\0) (8"1')4) 4 (4 x40) (4 x )
oY 7 160 16
5) 44x27 = 6) 33x35=
20 7 30 5
: 30 30 x 30 éo x5
401 40x200 @ox7 C50 ol
800 1280 ;
: s [T 3x30 T @ x 3)
4§ TR % 15
80 28
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